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(a) Write the following ratios in their simplest form.

(i) 6:8

(a)(i)
(i) 600m : 1.5km

(ii)

(b) 64 pens cost £5.76.

How much would 80 of these pens cost?

(b)

Created by W Neill

.......................................................

.......................................................
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7 (a) Write the following ratios in their simplest form.

(i) 6:8

(i) 600m : 1.5km
eé}z{m | Sé{d’f
615

(b) 64 pens cost £5.76. Z S

How much would 80 of these pens cost?
[
tpers = £S.76

pen = fooa - £ /.70
%OP@{TS:: (b) £
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(b)

Created by W Neill

A box contains only orange counters, purple counters and green counters.
A counter is taken, at random, from the box.
The probability that it is purple is % and the probability that it is green is %

Find the ratio of orange to purple to green counters.

(3) oo e e [3]

A different box contains 42 red counters, 90 yellow counters and no other counters.

A group of students share these counters between them so that they each receive the same
number of red counters and the same number of yellow counters.
There are no counters left over.

How many students could be in the group?
Give all possible answers and show your reasoning.
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14 (a) A box contains only orange counters, purple counters and green counters.
A counter is taken, at random, from the box.
The probability that it is purple is % and the probability that it is green is %
Find the ratio of orange to purple to green counters.
@ 4 P = G
% s
0 -?' : G (3 (a) ? ; Ci : ](_l, ..... (3]

/g_} - {C'D @ g éo .......................................

(b) A different box contains 42 red counters, 90 yellow counters and no other counters.

A group of students ghare these counters between them so that they each receive the same
numpberof tedctounters and the same number of yellow counters.

There are no counters left over.

hz | )./’?5 5 L'Jz ¥’ “+’ 2',(‘}2
How many students could be in the group? = o LS
Give all possible answers and show your reasoning. C?O |‘ 'S, S/g, lbjl ' S /t'k ’ qo

more than | G 1o
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12 (a) Three schools provide this information.
. % of the pupils at Harwood are girls.
*  42% of the pupils at Crompton are girls.
*  The ratio of girls to boys at Astley is 4 : 5.

Write the schools in the order of their proportion of girls, lowest to highest.
Show how you reached your answer.
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12 (a) Three schools provide this information.

. % of the pupils at Harwood are girls.
*  42% of the pupils at Crompton are girls.
*  The ratio of girls to boys at Astley is 4 : 5.

Write the schools in the order of their proportion of girls, lowest to highest.

ow how you reached ycmeb
Ha rwood Crompbﬂ ASUg:j

lowest



10 (a) A bag contains only green counters and black counters in the ratio 2 : 7. EEERIERIC RN

There are 45 counters in the bag.

How many counters are black?

(b) A different bag contains only red counters, blue counters and yellow counters in the ratio
4:8:11.

There are 54 blue counters.

(i) How many counters are red?

(i) A counter is taken at random from the bag.

What is the probability that it is yellow?



10 (a) A bag contains only green counters and black counters in the ratio 2 : 7. EEERIERIC RN

There are 45 counters in the bag.
How many counters are black?
G- b
S =9 Paré £ .
4 k v = (a)/?Dg ............... 2]
S i)a L/ \ XS
[0 23S

(b) A different bag contains only red counters, blue counters and yellow counters in the ratio

4:6:11. RBy SL(: épcr{‘s

There are 54 blue counters.

- - G = \part
(i) How many counters ar@ Xq (ZL\ . jo ll PQ

NCPI o7 s 31(3 .............. [2]

(i) A counter is taken at random from the bag.

What is the probability that it is yellow?
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2 (a) Find % of 56.

(b) Write 35 : 50 as a ratio in its simplest form.

(c) Write 8mm to 12cm as a ratio in its simplest form.
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Created by W Neill

(a) Find % of 56.

(b) Write 35 : 50 as a ratio in its simplest form.

® 35S0 710 .
7 : (O .......... [1]

(c) Write 8mm to 12cm as a ratio in its simplest form.

B . | 2O mm .

Lo >
v 4 : é)g (c){[b ....... [2]
LIS



(c) Kiri and Peter share some sweets in the ratio 6:7.

What fraction of the sweets does Kiri receive?

Video created by W Neill

-----------------------------------------------------------
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(c) Kiri and Peter share some sweets in the ratio

What fraction of the sweets does Kiri receive?

Video created by W Neill

-----------------------------------------------------------
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16 Last year, Katie earned £16 200.
Her total loan repayments were £6400.

Katie estimates that the ratio of her loan repayments to her earnings is approximately 3 : 8.

Is she correct?
Show your reasoning.

------------------------------------------------
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16 Last year, Katie earned £16 200.
Her total loan repayments were £6400.

Katie estimates that the ratio of her loan repayments to her earnings is approximately 3 : 8.

Is she correct? i =

Show your reasoning.
6(@6 : ngbé S 5
20 8O

2 : gl C\_/"[‘[.,ege aré L/é’fj S‘;mlﬂ'm‘

S0 qes she s corect
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1 (a) Complete this table of fractions, decimals and percentages.

Fraction Decimal Percentage
% = 0.5 = 50%
= 0.27 =
4 . o
- = =
— = 3?’0
3]
(b) Write 45% as a fraction in its simplest form.
| [2]

(c) Alan and Brian share a sum of money in the ratio 1:4.

What fraction of the money does Alan receive?
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1 (a) Complete this table of fractions, decimals and percentages.

Fraction Decimal Percentage
% = 0.5 = 50%
o) _ _ ;
s - 027 - 27

SN

s

3%

-
= OB

[3]

(b) Write 45% as a fraction in its simplest form.

| L e [2]

(c) Alan and Brian share a sum of money in the ratio 1:4.

What fraction of the money does Alan receive?
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18 Maria mixes white paint and red paint in the ratio 2 : 3.
She makes a total of 15 litres of paint.

How much more red paint does she need to add to the mixture so that the ratio of white paint to
red paint becomes 1 : 57

.................................................. litres [4]
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18 Maria mixes white paint and red paint in the ratio 2 : 3.

She makes a total of 15 litres of paint.

How much mooes she need to add to the mixture so that the ratio of white paint to
red paint becomes T : 57

............................. 2( litres [4]



10 This pie chart shows how the employees of a business travel to work. Created by W Neill

Not to scale

(a) Find the ratio of the number of employees who cycle to work to the number of employees
who walk to work.
Give your answer in its simplest form.



10 This pie chart shows how the employees of a business travel to work. Created by W Neill

Not to scale

(a) Find the ratio of the number of employees who cycle to work to the number of employees

who walk to work.
Give your answer in its simplest form. ( i \/1/
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6 (a) Lucyand Ben share £42.

Lucy’s share is £30.

Write the ratio Lucy's share : Ben'’s share in its simplest form.

(@) oo SR [2]

(b) The ratio 2.5 metres to 70 centimetres can be written in the form 1:n.

Find the value of n.
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(a) Lucy and Ben share £42.
Lucy’s share is £30.

Write the ratio Lucy's share : Ben'’s share in its simplest form.

012
S : 6

S “ 2 ) o S A——

(b) The ratio 2.5 metres to 70 centimetres can be written in the form 1:n.

Find the value of n.

Q-Smel:res > 70¢m
250em - T0cm N\ .
D«:Zbo

D | I 07%

150
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16 (a) Two bags each contain only red counters and yellow counters.

In Bag A, the ratio of red counters to yellow counters is 1 : 4.
In Bag B, % of the counters are red.
(i) Sharon says

The proportion of the counters that are red is the same in both bags.

Explain why Sharon is not correct.

...........................................................................................................................................
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16 (a) Two bags each contain only red counters and yellow counters.

In Bag A, the ratio of red counters to yellow counters is 1 : 4.
In Bag B, % of the counters are red.
(i) Sharon says
The proportion of the counters that are red is the same in both bags.

Explain why Sharon is not correct.

................... :.-.--.-...---.--o----o--.-o..o.n..n.-..-....-..-.-.t..-...-o.-o-o--o--..o...--.-..n-...-..-.--.-.o sessmsmsnnnnn [1]

So nol= bre Seme
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(@) Write 12:54 as a ratio in its simplest form.

(a)
(b) The ratio 400g:1kg can be written in the form 1:n.

Find the value of n.

Created by W Neill
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(@) Write 12:54 as a ratio in its simplest form.
R13

L2

A

---------------------------------------------------------

10009 A

(b) The ratio 400g:1kg can be written in the form 1:n.

R14 Eind the value of n. 00 & 000 '
4000 | l> A0S
i & 2
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R13
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(a) Elise wants to divide a sum of money between Hannah and Adil in the ratio 2 : 3.
Elise says:

Hannah will get % of the money.

Explain why Elise is not correct.



Created by W Neill
(b) George has a different sum of money.
QG He divides the money between Siobhan and Ilwan.

Iwan receives 17 of the money.

Write the ratio of the money that Siobhan receives to the money that lwan receives.
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9 (a) Elise wants to divide a sum of money between Hannah and Adil in theratio 2: 3. = S Pf—;(l'_s
RI3 H &

Elise says:

Hannah will get % of the money.
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(b) George has a different sum of money.
QG He divides the money between Siobhan and Ilwan.

Iwan receives 17 of the money.

Write the ratio of the money that Siobhan receives to the money that lwan receives.
: s T
\"/ pq/l"g < 0D
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5 (a) Write 3:57 as a ratio in its simplest form.

R13
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5 (a) Write 3:57 as a ratio in its simplest form.

R13



20 The table shows the number of computers sold in Tom’s shop each quarter from 2015 to 2017.
Video created by Will Neill

2015 2016 2017

Quarter 11 2| 3|4 | 1|2 |34 |1]|2]| 3| 4

Number of

13 | 31 | 29 |45 | 20 | 32 | 25 | 47 | 27 | 40 | 30 | 58
computers sold

(a) Complete this graph using the information for 2017.
A
B B 2 B 0 3 B8 B 1 ) G F 5 8 A1 1 3 ik

Number of
computers
sold

2015 2016

Year and quarter

[2]



Video created by Will Neill

(b) Tom adds the three results for quarter 1 and he adds the three results for quarter 4.
Tom says

R13

The ratio of the total number of computers sold in quarter 1 compared to quarter 4 is
gsb

Is he correct?
Show your reasoning.



20 The table shows the number of computers sold in Tom’s shop each quarter from 2015 to 2017.

2015

2016

2017

Quarter 1

Number of

computers sold 13

31|29

45 | 20132 | 25

47

27

40 | 30

58

(a) Complete this graph using the information for 2017.

Number of

sold

computers 30_
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2016

Year and quarter

[2]

Video created by Will Neill
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(b) Tom adds the three results for quarter 1 and he adds the three results for quarter 4.
R13 Tom says

The ratio of the total number of computers sold in quarter 1 compared to quarter 4 is
2:5.

ISShT)?:vC;c:lrﬁ'ite?asoning. & S
47
LS LT K &
/
(5 O

Z *
Yes he is correc
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(b) Dancers who are awarded a score of more than 20 by both judges receive a medal.

For the 12 dancers, express the ratio of medal winners to non-medal winners in its simplest

R13 form.

30

20

JudgeB 15

10 %

[&)]
£

Judge A
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(b) Dancers who are awarded a score of more tha@ 20 by both judges receive a metak

For the 12 dancers, express the ratio of medal winners to non-medal winners in its simplest

R13 form.

yraner © non meds [

A\ VA=
*7

20
X*
L 4
JudgeB 15
X*
*
X
10 ¥
X
L 4
5 X

Judge A
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Video created by W Neill

In a school, % of the students study a language.
Of those students who study a language, % study Spanish.

Find the ratio of students who study Spanish to students who do not study Spanish.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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4 In a school, % of the students study a language.
Rlba

e Of those students who study a language, % study Spanish.

Find the ratio of students who study Spanish to students who do not study Spanish.

Chseh = OO ( o numbeA
\Qﬂé/ \-) fUO anﬁ

4, 600 200
2o -
& 5,

240 20 :bky” L
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6 (a) Two bags each contain only red counters and yellow counters.

ng In Bag A, the ratio of red counters to yellow counters is 1 : 4.

In Bag B, % of the counters are red.

(i) Sharon says

The proportion of the counters that are red is the same in both bags.

Explain why Sharon is not correct.

...........................................................................................................................................



Two bags each contain only red counters and yellow counters.

In Bag A, the ratio of red counters to yellow counters is 1 : 4.

In Bag B, % of the counters are red.

(i) The number of counters in the two bags is the same.

Created by W Neill

R[:?) Complete the table below to show how many counters of each colour could be

in the bags.

Red counters

Yellow counters

Bag A
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6 (a) Two bags each contain only red counters and yellow counters.

RiB In Bag A, the ratio of red counters to yellow counters is 1 : 4.
In Bag B, % of the counters are red.
(i) Sharon says
The proportion of the counters that are red is the same in both bags.

Explain why Sharon is not correct.

................... :.-.--.-....--.--o----o-..-o..o.n..n.-..-o-..-..-o-.t..-.-.-o.-o-o--o--..o...--.-..-...o-..-.--.-.o sessmsmsnnnnn [1]

So nol= bre Seme



Two bags each contain only red counters and yellow counters.

In Bag A, the ratio of red counters to yellow counters is 1 : 4. 70
1 |
In Bag B, 2 of the counters are red. /'; 0{» 7
oo
(i) The number of counters in the two bags is the same. L .

R\?) Complete the table below to show how many counters of each colour could be
in the bags.

3eq A T B

et Yellor  (20) Red” Yellow

Created by W Neill

| b [J i
/g‘ /< /q 25 ?@ =
|/‘)—' O{ o5 e Q, Red counters Yellow counters

—

LVS‘ o{, 202 (L e é‘ ié
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22 In avillage the ratio of males to females is 2: 1.

R13 40% of the people in the village are right-handed males.
25% of the people in the village are right-handed females.

Show that the proportion of females who are right-handed is greater than the proportion of males
who are right-handed. [6]



22 In avillage the ratio of males to females is 2:1. =3 2000 HiceredicbyEiRes

‘ha DOC
R13 40% of the people in the village are right-handed males. = qumi
25% of the people in the village are right-handed females.

Show that the proportion of females who are right-handed is greater than the proportion of males

who are right-handed. [6]

2000 Lo7. of 2000 = (100

M F
g | 29. of Yoo = 7SO0
© looo

ik K;jh{— Femsle Rrjhk- Male
e T ,QE.EL_ Lo
{OOG (00 ZOO&{ /
160



Video created by Will Neill
17 The diagram consists of three mathematically similar shapes.
The heights of the shapes are in the ratio 1:4 : 5.

Gb6
R13

E Not to scale

Find the ratio
total shaded area : total unshaded area.

Give your answer in its simplest form.

total shaded area : total unshaded area .............cccccee. 1 rrrrveiiiiinnnne, [4]
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17 The diagram consists of three mathematically similar shapes.

The heights of the shapes are in the ratio 1:4 : 5.

656 ,LL | aig § S

R13 % " &

S"L
smtfj! @‘5 JA | 2 & E 25

Are= Scele fs¢ Lors
ynShaded = Tolal - ML‘ f

% 0 Iay
5 B8 4 10
Find the ratio

total shaded area : total unshaded area. S}jng ¢ m\ghd@

Give your answer in its simplest form. I S J fO
l6
g

total shaded area : total unshaded area 3 : ? [4] e
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5 Debra recorded the favourite colour of each of the 30 students in her class.

The incomplete table shows some information about her results.

Created by W Neill

Colour Number of students
(a) Complete the table for Debra’s results.
red 7
green 6
yellow 5
blue 10
(b) What is the modal colour? other

Mark asked each student in a different class to name their favourite colour.

For this class.

the number of students who said blue is three times the number of students who said green.

(c) Write down the ratio of

the number of students who said blue to the number of students who said green.



5 Debra recorded the favourite colour of each of the 30 students in her class. Created by W Neill

The incomplete table shows some information about her results.

Colour Number of students
(a) Complete the table for Debra’s results.
red 7
green 6
yellow 5
™ OSE blue 10
(b) What is th olour? s 2

blee.,

Mark asked each student in a different class to name their favourite colour.

For this class.

the number of students who saifl blue is three times the number of students who said green.

(c) Write down the ratio of
the number of students who said blue to the number of students who said green.

g:
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14 (a) Write £4.20 : £1.40 : £7 1n 1ts simplest form.

(b) Write a number on the dotted line to complete the statement 6 : 4= . of |

(1)

(Total for Question 14 is 3 marks)
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14 (a) Write_£4.20 : £1.40 : £7 1n 1its simplest form.

)652{17-'35'
-':?\(,
TS

(b) Write a number on the dotted line to complete the statement 6 : 4 = ‘5 of |

| 654 )Y
el g ISlL’)Q

(1)

(Total for Question 14 is 3 marks)




24 Only blue vans and white vans are made 1n a factory. Creatied by WiNel!

The ratio of the number of blue vans to the number of white vans i1s 4 : 3

(a) Write down the fraction of vans that are blue.

For blue vans,
the number of small vans : the number of large vans =3 : 5

(b) Work out the fraction of the number of vans made in the factory that are blue and large.

(3)

(Total for Question 6 is 4 marks)
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6 Only blue vans and white vans are made in a factory. eated by Wike

The ratio of the number of blue vans to the number of white vans i1s 4 : 3

(a) Write down the fraction of vans that are blue.

Lz 3 g

For blue vans,

the number of small vans : the number of large vans =3 : 5

(b) Work 01% the fraction of the number of vans made in the factory that are blue an

SIUEL S
S S { 07[ ‘Z’VQ ?O
S S/eff L oc S

{’Total for Q_‘__uestion_hb 1s 4 marks)
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3 Rod A has length 12cm.
Rod B has length 7cm.

Write the length of rod A to the length of rod B as a ratio.

R13

(Total for Question 3 is 1 mark)
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3 Rod A has length 12cm.
Rod B has length 7cm.

Write the length of rod A to the length of rod B as a ratio.
A ]

(Total for Question 3 is 1 mark)

e
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9 (a) Write the ratio 21: 14 1n 1its simplest form.

R13

There are some biscuits on a plate.
| S

2 of the biscuits are chocolate.
The rest of the biscuits are plain.

(b) Write down the ratio of the number of chocolate biscuits to the number of plain biscuits.

R13



The ratio of the number of boys to the number of girls in a class 1s 12:13

(c) What percentage of the class are boys?

R13
RS

Video created by W Neill

(2)
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9 (a) Write the ratio 21: 14 1n 1its simplest form.

R13 gz

There are some biscuits on a plate.

l o I

2 of the biscuits are chocolate. /Lr
The rest of the biscuits are plain. g/ﬁ—

(b) Write down the ratio of the number of chocolate biscuits to the number of plain biscuits.

SGR
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£ &

The ratio of the number of boys to the number of girls in a class 1s 12:13

(c) Wha@tageof the%

R13

1[(46\0‘7” are L_)c\lg &= /l/gf——/ &%%




10 A farmer has 20 boxes of eggs. Yo e oyiiNe

There are 6 eggs in each box.

Write, as a ratio, the number of eggs in two boxes to the total number of eggs.
Give your answer 1n 1ts simplest form.

(Total for Question 10 is 2 marks)




10 A farmer has 20 boxes of eggs. Yo e oyiiNe

There are 6 eggs in each box.

Write, as a ratio, the number of eggs in two boxes to the total number of eggs.
Give your answer 1n its sumplest form.

_% bores
L Se%s - [eeops

L 7 126
| (O

20 boxes

90 X b = NOess o

(Total for Question 10 is 2 marks)



5

A path is made of white tiles and grey tiles.

i of the tiles are white.

(a) Write down the ratio of white tiles to grey tiles.

There is a total of 56 tiles.

(b) Work out the number of grey tiles.

Video created by W Neill



5 A path is made of white tiles and grey tiles. Video created by W Neill

| X .
Z of the tiles are white.

(a) Write down the ratio of white tiles to grey tiles.

w G
w| G\ .
G y odd b & \3
e
There is a total of 56 tiles. ( cad 3

(b) Work out the number of grey tiles. (£
_ ( So Files < 4'06;({‘5
Yy

e Eles = \ pact
¢ (5 ( = q:’[ ) .



11 There are 30 children in a nursery school. Creeates by dnel

At least 1 adult is needed for every 8 children in the nursery.

(a) Work out the least number of adults needed in the nursery.

(2)
2 more children join the nursery.
(b) Does this mean that more adults are needed in the nursery?
You must give a reason for your answer.
(1)

(Total for Ouestion 11 is 3 marks)



11 There are 30 children in a nursery school. Creeates by dnel

At least 1 adult is needed for every 8 children in the nursery.

(a) Work out the least number of adults needed in the nursery.

B 3
2 ;b [leed I

g 2(4' 2)
2 more children join the nursery. b - = Z

(b) Does this mean that more adults are needed in the nursery?
You must give a reason for your answer.

No, as E£ 2 more ar€ added e ki will L;@/Q‘EZ
(
L adulls st ([ needas

(Total for Ouestion 11 is 3 marks)
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15 There are only red buttons, yellow buttons and orange buttons in a jar.
The number of red buttons, the number of yellow buttons and the number of orange

buttons are in the ratio 7:4:9

Work out what percentage of the buttons in the jar are orange.

(Total for Question 15 is 2 marks)
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15 There are only red buttons, yellow buttons and orange buttons in a jar.
The number of red buttons, the number of yellow buttons and the number of orange

buttons are in the ratio 7:4:9

Work out what percentage of the buttons in the jar are orange.

%
o T

q —_
o by
20 {00
S o7 -
B S
(Total for Question 15 is 2 marks)




; : : . Created by W Neill
6 Annie and Lily share some money in the ratio 4 : 3 Y

(a) What fraction of the money does Lily get?

Rosie and Dan share some sweets.

Dan gets L of the sweets.

4

(b) Write down the ratio of the number of sweets Rosie gets to the number of sweets Dan gets



L

; : : . Created by W Neill
6 Annie and Lily share some money in the ratio 4 : 3 Y

(a) What fraction of the money does Lily get?

Rosie and Dan share some sweets.
Dan gets l of the sweets.
4

(b) Write down the ratio of the number of sweets Rosie gets to the number of sweets Dan gets

% D
S 4 |
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11 The table shows a cricket club’s income in 2016 from a fete. a quiz and membership fees.

Income
Fete £250
Quiz Entry fees 13 at £5 each
Refreshments £35
Membership fees 25 at £20 each

Express as a ratio

the income from the fete to the income from the quiz to the income from membership fees.

Give your ratio in its simplest form.

(Total for Question 11 is 3 marks)
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11 The table shows a cricket club’s income in 2016 from a fete. a quiz and membership fees.

Income
Fete £250 .
Quiz Entry fees 13 at £5 each ..____./fa \?) xé - Z 65
Refreshments £35 + 25T
Membership fees 25 at £20 each Flooe

Express as a ratio

the income from the fete to the income from the quiz to the income from membership fees.

Give your ratio in its simplest form.
Foo@ 0 ME
250 1 oo+ S00

2> 10+ QO L
S 12 | 2o

(Total for Question 11 is 3 marks)
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19 There are only blue cubes, yellow cubes and green cubes in a bag.

There are

twice as many blue cubes as yellow cubes
and  four times as many green cubes as blue cubes.

Hannah takes at random a cube from the bag.

Work out the probability that Hannah takes a yellow cube.

(Total for Question 19 is 3 marks)




19 There are only blue cubes, yellow cubes and green cubes in a bag.

There are

twice as many blue cubes as yellow cubes
and  four times as many green cubes as blue cubes.

Hannah takes at random a cube from the bag.

Work out the probability that Hannah takes a yellow cube.

" B Y G

N g b 2
16 % bl

&
&%

Created by W Neill

(Total for Question 19 is 3 marks)



14 Gavin. Harry and Isabel each earn the same monthly salary. Video created by W Neill
Each month.

N I*,S/ "‘("! k3" Gavin saves 28% of his salary and spends the rest of his salary

213

3 . :
Harry spends 2 of his salary and saves the rest of his salary

the amount of salary Isabel saves: the amount of salary she spends = 3:7

Work out who saves the most of their salary each month.
You must show how you get your answer.

(Total for Question 14 is 4 marks)




14 Gavin. Harry and Isabel each earn the same monthly salary. ; l OO Video created by W Neill
W-
Each month,

N I'*,S/ "‘("! k3" Gavin saves 28% of his salary and spends the rest of his salary

3 : :
R\3 Harry spends 2 of his salary and saves the rest of his salary
the amount of salary Isabel saves: the amount of salary she spends = 3:7
Work out who saves the most of their salary each month. & H -J-

You must show how you get your answer.

. | g
£100 w A T
90 sk @
G:vir\ Saves 78/, :{23

Hery Saves Uy <(125

- \S AV
\qu@[ Sves T 3/ OQ%{OO Q\Dd ?Y]O;;S

3 a
{O /O @ (Total for Question 14 is 4 marks)
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17 There are some chocolates in a box.
1 .
Q\?’ Z of the chocolates contain nuts.

The rest of the chocolates do not contain nuts.

Write down the ratio of the number of chocolates that contain nuts to the number of
chocolates that do not contain nuts.
Give your answer in the form 1 : »

(Total for Question 17 is 2 marks)
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17 There are some chocolates in a box.
1 .
@\3 Z of the chocolates contain nuts.
The rest of the chocolates do not contain nuts.

Write down the ratio of the number of chocolates that contain nuts to the number of
chocolates that do not contain nuts.
Give your answer in the form 1 : »

Guts © No ﬂV%S
R

(I

(Total for Question 17 is 2 marks)
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23 Raya buys a van for £8500 plus VAT at 20%

3 Raya pays a deposit for the van.
(/I3 She then pays the rest of the cost in 12 equal payments of £531.25 each month.

e
Find the ratio of the deposit Raya pays to the total of the 12 equal payments.

Gi1ve your answer 1n 1ts sumplest form.

(Total for Question 23 is S marks)
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Raya buys a van for £8500 plus VAT at 20%

3 Raya pays a deposit for the van.
(/I3 She then pays the rest of the cost in 12 equal payments of £531.25 each month.

e
Find the ratio of the deposit Raya pays to the total of the 12 equal payments.

Gi1ve your answer 1n 1ts sumplest form.

Uon tosk ) pgmels
1450040/, \ {S3128 X\1

1 11100 ZL3TS
= #1000

(Total for Question is 5 marks)




16 Alan, Bispah and Chan share a sum of money.

RLtQ Alan gets % of the money.

Rlb

Bispah gets 5 of the money.

Chan gets the rest of the money.
Alan gets £2.50

(a) Work out how much money Bispah gets.

(b) Find the ratio
R amount of money Alan gets : amount of money Chan gets

Give your answer in the form a:b where @ and b are whole numbers.

Video created by W Neill



16 Alan, Bispah and Chan share a sum of money. /‘%}

RLtQ Alan gets ;— of the money.

Rl | A B

Bispah gets 5 of the money.

P
Chan gets the rest of the money. /g . %
Alan gets £2.50 ,}_\X >

(a) Work out how much money Bispah gets. ‘f? S0 f lO

(b) Find the ratio
R amount of money Alan gets : amount of money Chan gets

Give your answer in the form a:b where @ and b are whole numbers.

Video created by W Neill
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13 Azmol, Ryan and Kim each played a game.

R13 Azmol’s score was four times Ryan’s score.
Kim’s score was half of Azmol’s score.

Write down the ratio of Azmol’s score to Ryan’s score to Kim’s score.

(Total for Question 13 is 2 marks)
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13 Azmol, Ryan and Kim each played a game.

R13 Azmol’s score was four times Ryan’s score.
Kim’s score was half of Azmol’s score.

Write down the ratio of Azmol’s score to Ryan’s score to Kim’s score.

e
E O =R
£

(Total for Question 13 is 2 marks)
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16 Write down the ratio of 450 grams to 15 grams.

= Give your answer 1n its simplest form.

(Total for Question 16 is 2 marks)
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16 Write down the ratio of 450 grams to 15 grams.
Give your answer 1n its simplest form.

LSO ¢ 1S
0 [/

R13

(Total for Question 16 is 2 marks)
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17 x*-9” =0 wherex >0andy > 0

(a) Work out the ratio x : y
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17 x*-9” =0 wherex >0andy > 0

(a) Work out the ratio x :y
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11 Anna and Bill share some money in the ratio 2 : 5

Anna gets £4
Bill gets £B

Carl and Donna share twice as much money as Anna and Bill share.
They share the money in the ratio 3 : 1

Carl gets £C
Donna gets £D

Find 4:B:C:D
Give your answer 1n its simplest form.

(Total for Question 11 is 3 marks)
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11 Anna and Bill share some money in the ratio 2 : 5

Anna gets £4
Bill gets £B

Carl and Donna share twice as much money as Anna and Bill share.
They share the money in the ratio 3 : 1

= |
Carl gets £C P( : (B - C X D
Donna gets £D ]
Find 4:B:C:D @ _
Give your answer 1n its sumplest 1. Qx S 9 IO 'S-DC 3 595

“_oc - bpq({-s T
4G = 1P°"+ “"1

(Total for Question 11 is 3 marks)
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15 In a school show,

R3S girls : boys =1 : 1

girls who sing : girls who do not sing=1:2
8 girls sing in the show.

How many students are in the show altogether?
[3 marks]

Answer
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15 In a school show,

R3S girls : boys%

girls who sing : girls who do not sing=1:2
8 girls sing in the show.

How many students are in the show altogether?
[3 marks]

Girls Sna (rirls ot S:f\j

.
O T Toksl = 24 girls
omer_Voke| b o b = ¢§




16

R\3

The counters in a bag are red or blue.
One fifth of the counters are red.

Work out the ratio red counters : blue counters

Circle your answer.

1:4 1=:5

1:

Video created by W Neill

[1 mark]
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R\3

Video created by W Neill
The counters in a bag are red or blue.

R [3

One fifth of the counters are red.

Lok
Work out the ratio red counters : blue counters S e
Circle your answer. —
<Y [1 mark]

1=:5 4:5 T8



19 Ben and Katy throw darts at a target.
Q3

Ben's ratio of hits to misses is T

Katy’s ratio of hits to missesis 3:1

Ben says,

“5 is bigger than 3, so | must have more hits than Katy.”

Give an example to show that this might not be true.

Video created by W Neill

[2 marks]
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19 Ben and Katy throw darts at a target.
(J\B Ben's ratio of hits to misses is 5
Katy's ratio of hits to missesis 3 :1 _
@ iy R
Ben says,
“5 is bigger than 3, so | must have more hits than Katy.”
Give an example to show that this might not be true.
[2 marks]
th \ 90 qgoe
@gn (l’l %O€S> ﬂ >
| Als @ misseg
hiks = Misses R@qgan
g - ( '—-S = :}U\/ 010 n(}f—
/ \ Kiners how many
\Ohlks 2!’”:58@3 (S/-A "L " J 3(‘)68 @‘QCJ/]
R

-

e e ——

e Sm“sje‘g have haol
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11 (a) Cards in a pack are red or blue in the ratio

R13 red:blue = 2:3

What fraction of the cards are red?

Circle your answer.
[1 mark]

[o21Ks)
WN
o N
o w
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11 (a) Cards in a pack are red or blue in the ratio

R13 3

red : blue =
What fraction of the cards are red? /

2
Circle your answer. 5
[1 mark]

;|
w(N
| w
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18 Circle the ratio which is the same as the scale 1 cm represents 1 km
[1 mark]

R1

R13
1:100 1:1000 1:10000 1:100 000
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\O 000 ¢,
18 Circle the ratio which is the same as the scale 1 cm represents 1 km
- [1 mark]

R1

R13
1:100 1:1000 1:10000 1:100 000

(00¢m = Im
(Km = IOOON\
(OOOM e (OOOOO B



22

R4a
R13

Anna plays a computer game.

Each game is a win or a loss.
She wins three quarters of her first 24 games.
She then wins her next 12 games.

For all 36 games, work out the ratio wins : losses
Give your answer in its simplest form.

Answer

Video created by W Neill

[3 marks]
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22 Anna plays a computer game.

Each game is a win or a loss.
R4a She wins three quarters of her first 24 games.
R13

She then wins her next 12 games.

For all 36 games, work out the ratio wins : losses

Give your answer in its simplest form.
[3 marks]

P'ths 26 LR | losses
O ® |
W nS 1/(* OWLZQ S | ( ol

%ééx‘;:;g
v

112 S |

Answer

30 wins
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20 a:b=5:2
R13 How many times larger is a than 5?
R14 Circle your answer.

[1 mark]

0.4 1.5 2.5 3
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20 a:b=5:2
R13 How many times larger is a than 5?
R14 Circle your answer.

[1 mark]

a. - b
> A

K?s
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26 Theo starts with savings of £18

James starts with no savings.
R13

Each week from now,

Theo will save £4.50 and James will save £4

In how many weeks will Theo and James have savings in the ratio 15:8 ?
[3 marks]

Answer
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26 Theo starts with savings of £18

James starts with no savings.
R13

Each week from now,

Theo will save £4.50 and James will save £4

In how many weeks will Theo and James have savings in the ratio 15:8 ?
[3 marks]

Answer
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19 A forest has 6500 trees.

The trees are beech or maple.

number of beech : number of maple = 1.6 : 1

19 (a) What fraction of the trees are beech?
[2 marks]

R13

Answer




19

19 (a)

R13

Video created by W Neill
A forest has 6500 trees.

The trees are beech or maple. E /)
number of beech : number of maple = 1.6 : 1 = 2.b
What fraction of the trees are beech?
| () [2 marks]

Yz
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4 a:b=4:3

mg Circle the correct statement.
[1 mark]

bisiofa bisiofa bisiofa biSEOfa
7 7 3 4
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4 a:b=4:3
mg Circle the correct statement.
[1 mark]
biSEOf(I bisgofa bisiofa
7 7 3



17 P is a rectangle with length 50 cm and width x cm

Q is a rectangle with width y cm

Alé
R13

Not drawn
accurately

xcm

ycm

50 em

The length of Q is 20% more than the length of P.

The area of Q is 10% less than the area of P.

Work out the ratio x:y

Give your answer in its simplest form.

[4 marks]

Answer

Video created by W Neill




17 P is a rectangle with length 50 ecm and width x cm

Q is a rectangle with width y cm

Alé6
R13
P Q
xcm
50 cm bO (Al

The length of Q is 20% more than the length of P.

The area of Q is 10% less than the area of P.

Work outthe ratio x:y

Give your answer in its simplest form.
20). 0L 50 = [0

Video created by W Neill

accurately Q(ea, P '_[0; = 7ﬂ( Q
_ 0= x09 = (/)Oj

(Sx = 60

G b
3 - g
[4 marks] - /\ \-)

{Z \2
4

H
bR

h

L3

Answer
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2 v is 100% more than x.

Circletheratio «x : v
R13 [1 mark]

1 : 100 00 1 13 < 2 1
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2 v is 100% more than x.
Circletheratio «x : v
R13 [1 mark]
1 : 100 100 : 1 @ s 7
007.0f 10 =70 v

Y- 20 ~C Y

\:B‘:Z(O 2O Lilup
\ Lr
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14 Patterns are made using straight lines and arcs.
14 (a) Pattern A (one row) Pattern B (two rows)
PR R e P SR R, e
I R
— —

More rows are added to Pattern B so that

number of straight lines : number ofarcs = 10:9

How many rows are added?
[2 marks]

Answer




14 Patterns are made using straight lines and arcs. Migeareeaea o Nl

14 (a) Pattern A (one row) Pattern B (two rows) S L : faﬂ RCS
A T e ST ST TR S ST T T SUmuoaeT Thels Geet my S L g
I
—  —
More rows are added to Pattern B so that zo " zo
number of straight lines : number of arcs = 10:9 : 2{

— 728 Ly
How many rows are added” "
m [2 marks] 3 O . Z 8

1_:. 4O = 26 SN = 54
'ugl():.c%t)ftf 7 b & &l

Answer 6 L/
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16 The value of y is 20% more than the value of x.

Circle the ratio - ey 7
i [1 mark]
R13



16

R7
R13

The value of y is 20% more than the value of x.

Circle the ratio - ey 7
> Y
QC” lOO
(00 =120

Video created by W Neill

QO./. O(,S Fa (

[1 mark]



26

R13

Video created by W Neill
b is two thirds of c.
ba =4c

Work out the ratio a-b:¢

Give your answer in its simplest form where a, 5 and ¢ are integers.
[3 marks]

Answer
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26 b is two thirds of c.
ba =4c g

R13 o 1{ -
Work out the ratio i E /3 [ \
Give your answer in its simplest form where a, 5 and ¢ are integers. = (O

. 2§ b :
- ke Lo g
- o (&
0 - 90 [2{ fS/

e 1210 S
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1
3 yis 1—times x.
2

R13

Circle the ratio that is equivalent to Pz

[1 mark]
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3 yis 1 times x.
2

R13

Circle the ratio that is equivalent to yox

[1 mark]




